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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

I-  Some vegetarians are not just indifferent to meat; they have a/an --------- --- toward it.
1) immorality 2) tendency 3) antipathy 4) commitment

2- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an --—--------- in some people about the benefits of technology.
1) ambivalence 2) distinction 3) encouragement  4) compromise

3- My niece has a —--eeeeeaeee imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.
1) vacuous 2) vivid 3) cyclical 4) careless

4-  The singer's mellifluous voice kept the audience -——-—-—--—- for two hours.
1) disputed 2) disregarded 3) frustrated 4) enchanted

5-  His family, relatives, and friends still cling to the hope that Jeff will someday -----eeeeuex
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

6- Logan has been working long hours, but that is no excuse for him to be -~ to
customers.
1) ingenious 2) intimate 3) discourteous 4) redundant

7-  Although he was found -----eennn- , he continued to assert that he was innocent and had
been falsely indicted.
1) critical 2) guilty 3) problematic 4) gloomy

8- The old sailor's skin had become wrinkled and ------------ from years of being out in the
sun and the wind.
1) desiccated 2) emerged 3) intensified 4) exposed

9-  The promoters conducted a survey to study the --—--——-——-- of the project before investing
their money in it.
1) impression 2) visibility 3) feasibility 4) preparation

10-  That is too --——-—-—- an explanation for this strange phenomenon—I am sure there's

something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ===—eememen
spatial reasoning. and the results were published in Nature. They gave research
participants one of three standard tests of abstract spatial reasoning (12) ====aeeeenx
each of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by
Mozart. verbal relaxation instructions, and (13) =-======--—-, They found a temporary
enhancement of spatial-reasoning, (14) ----- spatial-reasoning subtasks of the
Stanford-Binet 1Q test. Rauscher et al. show that (15) -- -- the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on
12- 1) having experienced 2) afier they had experienced
3) to be experiencing 4) to experience
13- 1) silence 2) was silent 3) there was silent  4) of silence
14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

It is almost certain that problems will occur while drilling a well. even in very
carefully planned wells. For example. in areas in which similar drilling practices are
used, hole problems may have been reported where no such problems existed
previously because formations are nonhomogeneous. In well planning, the key to
achieving objectives successfully is to design drilling programs on the basis of
anticipation of potential hole problems rather than on caution and containment.
Drilling problems can be very costly. The most prevalent drilling problems include
pipe sticking, lost circulation, hole deviation, pipe failures, borehole instability, mud
contamination. formation damage, hole cleaning, H,S bearing formation and shallow
gas, and equipment and personnel-related problems. Understanding and anticipating
drilling problems. understanding their causes, and planning solutions are necessary for
overall-well-cost control and for successfully reaching the target zone.
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17-
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20-

You can infer from the passage that ———-—eceeeeeeee,

1) two wells near each other may have totally different geological conditions

2) the homogeneous formation of a well leads to less drilling problems

3) the drilling problems occur in wells not being very carefully planned

4) reporting previous drilling problems causes to remove them when to drill a new
well

Designing drilling problems must be done according to —--—---ceeeeeee,

1) a carefully well planning

2) caution and containment

3) the degree of achieving objectives

4) prediction the potential hole problems

The word "prevalent" in line 7 means -—--—---—eeeues,
1) obvious 2) common
3) complex 4) dangerous

All of the following are the fundamental items under which overall-well-cost is
controlled and reaching to target zone is attainable EXCEPT ---—-meeeeeeu- .

1) anticipating the number of personnel

2) finding the planning solutions

3) identifying the causes of problems

4) understanding the drilling problems

The drilling problems are mostly —---eeseeaeee,

1) technological-based 2) planning-based
3) man-made 4) formation-based
PASSAGE 2:

Reservoir geology deals with the origin, spatial distribution, and petrological characteristics
of reservoirs. The reservoir geologist utilizes information from sedimentology. stratigraphy,
structural geology, sedimentary petrology. petrography, and geochemistry to prepare
reservoir descriptions. Those descriptions are based on both the fundamental properties of
the reservoir rocks and the sequence of geological events that formed the pore network.
Data for these descriptions comes from direct examination of rock samples such as
borehole cores and drill cuttings. Borehole logs and other geophysical devices provide
useful information, but they are indirect measurements of derived and tertiary rock
properties. They are not direct observations. Direct observations of depositional textures,
constituent composition, principal and accessory minerals. sedimentary structures,
diagenetic alterations, and pore characteristics provide the foundation for reservoir
descriptions. The geological history of reservoir formation can be traced by interpreting
depositional. diagenetic, and tectonic attributes. The goal of such interpretations is to
formulate geological concepts to guide in predicting reservoir size, shape, and
performance characteristics. In the absence of direct lithological data from wells, as in the
case of frontier exploration and wildcat drilling, geologists commonly study nearby
outcrops of the same age and geological formation as the expected reservoir. A measure
of care is given to interpreting reservoir geology from distant outcrops because
depositional and diagenetic characteristics may vary significantly from place to place and
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from outcrops that have been altered by surface weathering to subsurface reservoirs that
have never been exposed lo weathering.

Reservoir geology, according to the passage, .

1) is utilized to optimize the quality of production

2) deals with field development after discovery

3) concerns physical characteristics of the reservoir

4) is studied to derive the information related to mechanism

To provide reservoir descriptions, geologists ~—-—eeeeeeeee-,

1) try to form the events required for rock formation

2) depends strongly on designing an exact pore network

3) prepare the fundamental descriptions accumulated based on discovery

4) consider a set of related events, or items following each other in a particular order
The base and fundamental point for preparing reservoir description —-—-—eeeeeev,

1) comes from borehole logs characteristics and geological data

2) is based on direct observations of rock samples

3) includes geophysical and geological studies of the regions

4) depends on both direct and indirect measurements of derived and tertiary rock properties
The effect of weathering is
1) essential in indirect interpretation ol the reservoir geologies

2) so stronger in the geologically distract outcrops

3) led to more measure of care giving to outcrops

4) obvious in reservoirs which are on the surface or under the surface
The word "altered" in line 20 can be substituted by ------

1) separated 2) elected
3) changed 4) absorbed
PASSAGE 3:

A phase is defined as any homogeneous part of a system that is physically distinct and
separated from other parts of the system by definite boundaries. For example, ice,
liquid water. and water vapor constitute three separate phases of the pure substance
H,0 ., because each is homogeneous and physically distinct from the others: moreover,

each is clearly defined by the boundaries existing between them. Whether a substance
exists in a solid. liquid, or gas phase is determined by the temperature and pressure
acting on the substance. It is known that ice (solid phase) can be changed to water
(liquid phase) by increasing its temperature and. by further increasing the temperature,
water changes to steam (vapor phase). This change in phases is termed phase behavior.
Hydrocarbon systems found in petroleum reservoirs are known to display multiphase
behavior over wide ranges of pressures and temperatures. The most important phases
that occur in petroleum reservoirs are a liquid phase. such as crude oils or condensates.
and a gas phase, such as natural gases. The conditions under which these phases exist
are a matter of considerable practical importance. The experimental or the
mathematical determinations of these conditions are conveniently expressed in
different types of diagrams, commonly called phase diagrams.
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A homogeneous system -------------,

1) consists of only one phase

2) includes each pure substance like H,O

3) refers to any part of a system

4) separates different parts of a substance

Phase behavior, as mentioned in the passage, -------==eeenuv,

1) seeks to determine the various properties observed in a substance

2) is the study of temperature and pressure and their actions

3) describes the interaction between physically distinct, separable portions of phases
4) is predicting the outcomes of changes occurring during phase changes
Petroleum reservoir ----ceseeeeeeee,

1) includes mostly two phases

2) is defined based on hydrocarbon systems

3) shows wide ranges of pressures and temperatures

4) is important because its liquid phase is the most considerable

Phase diagrams, according to the passage, ------seeeeeuee S
1) are different types of diagrams confidently expressing the importance of different
phases

2) show the experimental and the mathematical determinations of conditions under which
the phases exist

3) are a matter of considerable practical importance

4) reveal one type of conditional diagrams

The word "conveniently" in line 15 means —-—-e-eeeeeeee 5
1) necessarily 2) immediately
3) directly 4) appropriately
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